INPUT GROUP REFERENCE PLANE
~ 655.9 —= 655.9 -
PTO ADAPTER MOUNTING FACE
- 616.0 —— 616.0 -
LEFT MOUNTING BRACKET FACE . |
RIGHT MOUNTING BRACKET FACE EYEBOLTS FOR LIFTING MARINE < —
TRANSMISSION ONLY. (2 EYEBOLTS, -
ONE EACH SIDE). EQUALIZE LOAD
NOTES: ON BOTH EYEBOLTS TO LIFT
A. PROPORTIONAL CONTROL VALVE OPERATION MARINE TRANSMISSION ONLY
1. WARNING DO NOT CONNECT VALVE COIL DIRECTLY |
TO BATTERY/POWER SUPPLY VOLTAGE. 0 3
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC =
CONTROL SYSTEMS OR MODULES. ‘
B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PUSH TO ENGAGE SECONDARY CLUTCH. I \ \
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PULL TO ENGAGE PRIMARY CLUTCH. =l G N
C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH {} — B 6/ ﬁ
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL
CONTROL VALVE IS IN THE CENTERED POSITION AND | > |
OPEN WHEN LEVER IS ACTUATED FROM CENTERED POSITION. N
2. CURRENT = 20 AMP MAX. &
3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE DRAWING. {+} {) i
D. REFERENCE S930 FOR TWIN DISC REQUIREMENTS FOR PRESSURE t ?
AND TEMPERATURE ALARM LEVELS. O o " ©
~ g
™
N5 P |
O g !
ALL POINTS AVAILABLE FOR TESTING ARE CODED ~
| | ('8 7
@ ] B A ¢ r
—
- 1521 —] !
— [ 16.0 ,
16 HOLES EQUALLY SPACED SHAFT CLUTCH ¢26.9 DRILL THRU
\ 7 SEE NOTE "A" 8 HOLES (4 EACH SIDE) T
hN- - " — ]
A OIL INLET FROM HEAT EXCHANGER/
N rbedrlitbiiiat M33x2.0 METRIC PORT
S G 2 | CONFORMS TO ISO 6149
2 Su & i & TIGHTENING TORQUE 88+8 Nm
Q oW < 1 PRIMARY CLUTCH (FIRST)
) S 5 % PRESSURE PORT
- b e NN M12x1.5 METRIC PORT
CONFORMS TO 1SO 6149 )
TIGHTENING TORQUE 16+1.5 Nm
7 OIL OUTLET TO HEAT EXCHANGER
L M33x2.0 METRIC PORT
T CONFORMS TO ISO 6149 M%NFRII\E/ISE'SF%II:\E:EPP(?RRFT
TIGHTENING TORQUE 88+8 Nm | x1.5 ——
& \ L — =~ CONFORMS TO ISO 6149 ©
TIGHTENING TORQUE 16+1.5 Nm ama)
CONNECT OIL PRESSURE
Eﬂg@gngST%%ONDARY 2 GAUGE LINE HERE. -
SECTION A-A SEE NOTE IIAII @ i (o] 0 O
SEEQQBQEE gll_\#TCH (SECOND) || PRII\/éAéRY CLUOTCH (SECOND)
PRESSURE PORT
M12x1.5 METRIC PORT M12x1.5 METRIC PORT
CONFORMS TO ISO 6149 CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+1.5 Nm ) 0 0 TIGHTENING TORQUE 16+1.5 Nm MAIN PRESSURE PORT
LUBE PRESSURE AND TEMPERATURE M4x 1.5 METRIC PORT
CONFORMS TO ISO 6149
PORT AFTER HEAT EXCHANGER TIGHTENING TORQUE 20+2 Nm
- 619.5 - SECONDARY CLUTCH (FIRST) M18x1.5 METRIC PORT -
PRESSURE PORT MAIN PRESSURE PORT CONFORMS TO 1SO 6149
M14x 1.5 METRIC PORT M14x 1.5 METRIC PORT TIGHTENING TORQUE 34+3 Nm SECONDARY CLUTCH (FIRST)
= 286.1 - CONFORMS TO ISO 6149 CONFORMS TO ISO 6149 PRESSURE PORT 5
TIGHTENING TORQUE 2042 Nm  TIGHTENING TORQUE 20+2 Nm M12x1.5 METRIC PORT SECTION C-C
TIGHTENING TORQUE 16+1.5 Nm
——
I
@
)
OIL LEVEL GAUGE N S SEE NOTE "C” Ol FILTER '
i PRIMARY CLUTCH (FIRST) 24 mm CLEARANCE REQUIRED ol |
TO REMOVE FILTER CANISTER. T e
i i LUBE AND TEMPERATURE kAUZEEz(/SLKAXE'%'QI%YF),ORT SEE NOTE "B" PRESSURE PORT TIGHTEN FILTER AN ADDITIONAL i B —
. . [}
PORT AFTER HEAT EXCHANGER B ONE RIS TOISG 6149 M14x 1.5 METRIC PORT 1/2 OF TURN AFTER FILTER
| ] M14x1.5 METRIC PORT CONFORMS TO 10 8149 GASKET MAKES CONTACT | ] -y
TIGHTENING TORQUE 75+7 Nm TIGHTENING TORQUE 20+2 Nm
CONFORMS TO ISO 6149 - 4
[ O O TIGHTENING TORQUE 20+2 Nm
ﬁ% ©): ]L 0
O O g/ \ \\j / / TEMPERATURE PORT N\
, | | /M14x1 5 METRIC PORT
) ] 0 \ ] — CONFORMS TO ISO 6149
1 \\ —— — X hij l — 1] i == TIGHTENING TORQUE 20+2 Nm 4
N L I: 11 <t I A A L _ | -
i (@Y —
& mll | S Q 1Y L
\ il —\ =il MAIN PRESSURE PORT
[] N 7\ - = M14x 1.5 METRIC PORT T : S
] PRIMARY CONFORMS TO ISO 6149 i 1 — ) I
_ B i | 7 GLUTe FOR USE WITH OPTIONAL -
) D LUTCH HYDRAULIC PTO [ .
T C = W_ / SHAFT ¢ TIGHTENING TORQUE 20+2 Nm y 4 T
— M ' — I INPUT SPEED SENSOR @ , N Eﬂ ) N
u j O O Il—"""5/8-18 UNF THD. B = —
| O O ] TARGET WHEEL: 61 TEETH & _
' 102 %
I3 5 s :
] | i N N N N N - - - ] - T 45 _"—A/I—' | I | - $_ - - - - - i -
@ =
- &3 i J ! j/ ¥
% - -
Tﬂ L — il T2 CENTER OF GRAVITY 4 . 0O O @ & S=—— i T— 17 ﬁ{
I I il : ~ S
[ O @, i q Nii . E " O O 17 3
i | &r o U T i
% A ~ : N \ E% J
I o
( > ( | § | - =
1 a -:‘ - C O - \%\ o E
—= Im O O i — ” N
| —
V/ T J,‘ll ' A (Llj \.
= — < I
I - O ~_— ' Ta TY
I
% O / N -
o T W Q
~ |
3 el | O 0 o 0 2 —— 7
T\ H — L ol O. o. 1
: ® -0 | Of N , = T g _ - 3
) Im 1 ) o\ ] a4
7 i \ —<] | N =
N | O O ‘ é O /I | A © 1= ] —
- =
- i
- ]
E— A ’ T - N~ - \E: 2
: ‘ ] | - 2 4
= u
~—— ——TRAILING PUMP OIL STRAINER |
M12X1.75 THREAD,13.8 DEEP -
) 121 mm CLEARANCE REQUIRED
i OIL STRAINER + i TO REMOVE STRAINER 6.0 —=
. M12X1.75 THREAD, 13.8 DEEP
N 121 mm CLEARANCE REQUIRED T TRAILIN PUMP r L]
\ TO REMOVE STRAINER _ TEMPERATIURE PORT
N 2\ M14 X 1.5 METRIC PORT 25.0 - )
| $325.0B.C. (J CONFORMS TO ISO 6149 7 iy
= B TIGHTENING TORQUE 20+2 Nm TRAILING PUMP PRESSURE PORT = —
i i L)} M14 X 1.5 METRIC PORT i
i ; CONFORMS TO ISO 6149 1
OUTPUT TIGHTENING TORQUE 20+2 Nm
SHAFT ¢ —— ’
T R.H. ENGINES DRIVING
THRU PRIMARY CLUTCH
CENTER OF GRAVITY AUXILIARY LUBE SUCTION PORT
FLANGE SIZE 38 ——
OUTPUT SPEED SENSOR
PER ISO 6162 (CODE 61) . - 609 8 —
M1o%1 75 3.0 DEEP TARGET WHEEL: 60 TEETH 1
OIL DRAIN ®24.5 DRILL THRU = | NDWF-04812 | 05/15/2014
M33x2.0 METRIC PORT (1) ZNﬂahEgLBEQSED REV]  CHANGE NO. DATE
CONFORMS TO ISO 6149
TIGHTENING TORQUE 88+8 Nm - - EQUALLY SPACED EQUIPMENT SHOWN: FIRST USE ASSEMBLY:1002046 1009.88 MATERIAL: DATE:
15 mm CLEARANCE REQUIRED ~MGX-6650SC PER 1002046 ASSEMBLY FIRST USENODEL MGX6650SC | @3 i,‘ PROSEENSN 9210312014
TO REMOVE PLUG - 1028325 FREESTANDIN INPUT FLANGE SIMILAR TO: W' o HERTTRERT 13 RACINE. W1 53403 - USA
440.0 440.0 - EC300 WIRING HARNESS M ET R C UNLESS OTHERWISE SPECIFIED DRAWN BY:
- DITCH PLATE FOR CUSTOMER HEAT EXCHANGER VD DIVERS PM ‘| 02 8 8 6 2 A
- 1016428AU MOUNTING BRACKET T T o TR ST %008 PESCRPTON “ALC
- TRAILING PUMP - TWINDISC, INCORPORATED ™| AGENURR oINS INSTALLATION APPROVED BY: [DWG SHEET: REV:
GRANTED TO THE U.S. GOVERNMENT OR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX-6650SC ALC size: - AQ 1 0OF 1 -
J | H G F E D | C | B | A

1025420W Rev. -



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Section View A-A
	Drawing View7
	Section View C-C


